

Name: Pepple (bim Obiedime)

Matric no: 161606061088

Department: Mechanical

Date: 24th October, 2017

Assignment

1) If $y = e^{x^2+x}$

Show that $y'' = y'(2x+1) + 2y$

and, hence, prove that

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

Soln

If $y = e^{x^2+x}$

$$\frac{dy}{dx} = y'$$

Let $y = e^u$ $\frac{dy}{dx} = y'$

$$= \frac{dy}{du} \times \frac{du}{dx}$$

$$\frac{dy}{dx} = y' = e^u (2x+1)$$

$$y' = (2x+1)e^u$$

$$y' = (2x+1)e^{x^2+x}$$

$$\frac{d^2y}{dx^2} = y''$$

$$y' = (2x+1)e^{x^2+x}$$

let $u = 2x+1$

$$\frac{du}{dx} = 2$$

$$v = e^{x^2+x}$$

$$\frac{dv}{dx} = 2x+1 e^{x^2+x}$$

$$\therefore \frac{d^2y}{dx^2} = y'' = v \frac{du}{dx} + u \frac{dv}{dx}$$

$$= 2(e^{x^2+x}) + 2x+1((2x+1)e^{x^2+x})$$

since $y = e^{x^2+x}$

$$y' = (2x+1)e^{x^2+x}$$

$$y'' = 2(y) + (2x+1)(y')$$

$$y'' = 2y + (2x+1)y'$$

$$y'' = y'(2x+1) + 2y$$

Hence prove that

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

$$y'' = y'(2x+1) + 2y$$

$$y'' - y'(2x+1) - 2y = 0$$

Using Leibnitz theorem

$$\text{let } y'' = \text{sub 1}, \quad -y'(2x+1) = \text{sub 2}, \quad -2y = \text{sub 3}$$

for sub 1

$$u = y''$$

$$v = 1$$

$$u^n = y^{n+2}$$

$$v' = 0$$

$$= u^n v + n u^{n-1} v'$$

$$= y^{n+2}(1) + n(y^{n+1})(0)$$

$$= y^{n+2}$$

for sub 2

$$-y'(2x+1)$$

$$u = y'$$

$$v = -(2x+1)$$

$$u^n = y^{n+1}$$

$$v' = -2$$

$$v^n = 0$$

$$= u^n v + n u^{n-1} v' + n(n-1) u^{n-2} v^n$$

$$= -y^{n+1}(2x+1) + n(y^n)(-2)$$

$$= -(2x+1)y^{n+1} - 2ny^n$$

for sub 3

$$-2y$$

$$u = y$$

$$v = -2$$

$$u^n = y^n$$

$$v' = 0$$

$$= u^n v + n u^{n-1} v'$$

$$= -2y^n$$

$$\therefore y^{n+2} - (2x+1)y^{n+1} - 2ny^n - 2y^n = 0$$

$$y^{n+2} = (2x+1)y^{n+1} + 2ny^n + 2y^n$$

$$y^{n+2} = (2x+1)y^{n+1} + 2y^n(n+1)$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n \quad \text{Proven}$$

Using the Leibnitz theorem given that

i) $y = x^3 e^{4x}$, determine $y^{(5)}$

ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$, show that $x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2+1)y^{(n)} = 0$

Solⁿ

i) $y = x^3 e^{4x}$
determine $y^{(5)}$

$$u = e^{4x}$$

$$v = x^3$$

$$u' = 4e^{4x}$$

$$v^{(1)} = 3x^2$$

$$u^{(2)} = 16e^{4x}$$

$$v^{(2)} = 6x$$

$$u^{(3)} = 64e^{4x}$$

$$v^{(3)} = 6$$

$$u^{(4)} = 256e^{4x}$$

$$v^{(4)} = 0$$

$$u^{(5)} = 1024e^{4x}$$

$$v^{(5)} = 0$$

$$y^5 = \frac{u^5 v}{2!} + \frac{n u^4 v'}{1!} + \frac{n(n-1) u^3 v''}{2!} + \frac{n(n-1)(n-2) u^2 v^{(3)}}{3!} + \frac{n(n-1)(n-3)(n-4) u v^{(4)}}{4!} + \frac{n(n-1)(n-2)(n-3)(n-4) u v^{(5)}}{5!}$$

$$y^5 = [1024e^{4x}(x^3)] + [5(256e^{4x})3x^2] + [\frac{5 \times 4}{2} \times 64e^{4x} \times 6x] + [\frac{5 \times 4 \times 3}{3!} \times 16e^{4x} \times 6] + [0] [0]$$

$$y^5 = 1024e^{4x}x^3 + 1280e^{4x}(3x^2) + 640e^{4x}(6x) + 1600e^{4x}(6)$$

$$y^5 = 1024e^{4x}x^3 + 3840e^{4x}x^2 + 3840e^{4x}x + 960e^{4x}$$

$$y^5 = e^{4x}(1024x^3 + 3840x^2 + 3840x + 960)$$

ii) $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

$$\underbrace{x^2 y''}_{\text{sub 1}} + \underbrace{x y'}_{\text{sub 2}} + \underbrace{y}_{\text{sub 3}} = 0$$

for sub 1, $x^2 y''$

$$u = y''$$

$$v = x^2$$

$$u' = y'''$$

$$v' = 2x$$

$$v'' = 2$$

$$v''' = 0$$

$$y'' = \frac{u^2 v}{3!} + \frac{n u^{(1)} v'}{2!} + \frac{n(n-1) u^{(2)} v''}{2!} + \frac{n(n-1)(n-2) u^{(3)} v'''}{3!}$$

$$y^n = y^{n+2} x^2 + n y^{n+1} (2x) + \frac{n(n-1)}{2!} y^n (2) + 0$$

$$y^n = y^{n+2} x^2 + 2x n y^{n+1} + n(n-1) y^n$$

for sub 2; $x y'$

$$u = y'$$

$$v = x$$

$$u^n = y^{n+1}$$

$$v' = 1$$

$$v'' = 0$$

$$y^n = u^n v + n u^{n-1} v' + \frac{n(n-1)}{2!} u^{n-2} v''$$

$$y^n = y^{n+1} x + n y^n + 0$$

$$y^n = x y^{n+1} + n y^n$$

for sub 3; y

$$u = y$$

$$v = 1$$

$$u^n = y^n$$

$$v' = 0$$

$$y^n = u^n v + n u^{n-1} v'$$

$$= y^n (1) + n (y^{n-1}) (0)$$

$$y^n = y^{n+2} x^2 + n y^{n+1} (2x) + (n(n-1)) y^n + x y^{n+1} + n y^n + y^n$$

$$y^n = x^2 (y^{n+2}) + 2x n (y^{n+1}) + (n^2 - n) y^n + x (y^{n+1}) + n y^n + y^n$$

$$y^n = (n^2 - n + n + 1) y^n + (2x n + x) y^{n+1} + x^2 (y^{n+2})$$

$$\therefore 0 = x^2 y^{n+2} + (2x n + x) y^{n+1} + (n^2 + 1) y^n$$

$$0 = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^n$$

$$\therefore x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2+1) y^n = 0$$